F10H

18 ) 28 (JK) 3H(KR) 48 (£)
A Bmb —A&EY | |#zs Bmd —A&Y | |#xs Bmb —A&Y | |#za =4 E —AHY
ERD=E ERS = EERDE EXS=E
£ |[BEXED 60| | |HEEK(ER) A EERREY 50| |7 | hEEIE M-3 150
< |BEXEH 70| |IF 0 [#EE K (B#) 80| | 55 [3y~/ty 60| [T [@wzEziF Na—6_200
% KHE B 5| |~ ~ 7 |@ezes 250
0 [k#E Fit 7 | 2043, 206| |, R R 206) |, |BREZRSAZ 25
& N > EE 1
3z, |48 206 BRARTAR 30| |4 [me memslcsmrm 30 EOEH 1
w EE 1 (R [mm se-msLmEsem 20 |& |F¥rAY 25
E |[EAREifizF 20| | [mEzEiesndGivh) 70 BB 1] (Bl | KEBL 25
B | EE 1 [* |[RCEEHR 40| % [BiE 0.15 Az 10
T A EBTFGvR) 40| BV oxcaizecin—o) 2] B [cLsS 006] "M [xhE 5
g BOEER awl | [Az 15 2 [casia 5| |7 [bbh—na—y 5
% [HOSAEGERYY) 20 <‘ mTEET 5 |¢ K 2l o LI (HAY) 0.5
= |AF 10} |5 |fzAai |z |t 8| |;m  [BBLIZAIK 0.7
#) FLLLF (RF4R) 1| |4 [EOE 32 |y [LR)EDIRIA 15| |5 [SFid 1
&3] A)SVPVAITA 7 |&  |EDEE(PXUHE) 23] |1 = O &5 2| B |EHRZT 7
* [BaLgE 05| |z "l 10| |[R |Eb¥ECEBHE) 12[ [ [LRABRR—T 3
L |&5LIZAI 0.8 o BYA 07 EA 1.5
® |sttim i| [ [xseL 25| [T |cAsA 04| (B [poas (kEvem) 08
; PRI FryS 4| = E 20| |ge 83 ;2 6 ’; PER—F (aYk) 0.8
B[RO 3.7 AS 5 |3 S5 |&iE 03
L |LR)eR—F 3 1={&HA (Z7) 1ke 5| [z [R=22(R54R) 5/ |« [SL&D 0.02
v | EHE 25 EOEm 15) || MNNEEOHYE 30| |+ *'|ig 125
L |BEEEE) 0.5 WYBEIE 1.2 |7 ey 30
v |BiE 0.15 BleycE 12| | |ROEEH 20| | *°|4EL 206
7 | ERE 0.15 7 Az 10
b [pmz—T k) 03 o 3o [ [£ay 2 A INZ U= 30
T o] | *[m= hoa0| | [5EY 08| | 2 |faf-Aaith 5
o 08 30 | RO 1 30 | (E) BE< I 30
9 s |BiE 0.3
Z|AB®L 20 ¥ oo[CL&S 0.03
T [Ep3Y 25 L [#xoavys amisz 0.5
7 AB 5 LR ApR—F 3
Y LRk—a—y 5 o—yzT 0.1
EOE; 2.3 aF] 105
BB 2
2 A =L ) 15 15 (8 T—_Y—Uv ks 15
CFim 0.6
ST wyBacE 1
(8 SvHRFYY 15




F10H

7HA) 8H (&) 9H (K) 108 (K) 11H(£)
R4 BR% —ABY | |#ze =k —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
EXRDE ERD=E ERS = EERDE EXS=E
L EBkER) 65| |2 =D AYAY 50 i BEEX(EF) 60| |& [&ELE/RY 50 % BEXER) 70
Y |pzy 55| |V 55 [aw~/8y 60| = [HER(EH) 70| B [2BLE Y 60| = |LEE 30
57) HIBF 5 ;\\ % KuE FH 6 l%: A EBULEHYR O 15 'z BiE 0.5
L Y Z AL 101 |, R 206 O XKiE FiE 7|, |mesuessteem 18 EE 1
HEWZIFS 7 & o |BEcEE® oM 4 | |BiE 08
4+ |AB 5 |4 |BALERSAR 20| |z, " |45 206 76 |appm e SR 48| [z "V [HLE® 05
7, RTEEF 3| |3 | FEAESE 2 3
WO 4 LM XS 10 [& |[BSAFE Avk /N 50| (3L 20|43 206/ (81 2[435 206
W EE 15| [N A AEVAFAT 20| |A  [BEAFE hubk B 60| | . Y
YL e 04| |! BOECeANE (k) 40| [F 0 |atE 02| [T [mm sk m-msL 18] [T [cass 15
ol B os| |7 |muExEE a0l |2 L ) 2] |%  [misr 5
% | AB 15 'J;% PFLAR 5 A=V (R54R) 5 ;g [AZ 7
2] 206| |+, |hRbKE 12| |x  |AMaz 20| |- |mEEresut vk 40| |p |[DFELKAR 7
B z |t 1 TELEE 15| |4 |RTEER 0| [ |[BWEDLD GV 0.3
v B Avk 50 rETFEyT 4| |1 | BEE IR EE Y 30| | |TFH 0.5
= Bt hvk 15| (3 |EEE(EBaE) B L {4 =t ) 18| |[A  |LRADR—F 3| | B [BOE 3
L [&E 1| | [v=e—v—=2 05| |[X  [moE; 15 [V & 0.5 HYA 15
AB 15 ¥ |&i& 05| B %[y 1|7 [cLss 003| |2 [&E i
7|7 B<b 10 g ZL&S 0.05 g,)F 7 FE Oy A LIEE 0.5 é [y AGA=E ) 1
£ |[RTEBRF I g |FEravvssmms 03| |y [S2FEVE Hvb 30/ [, [B=UT 1] |s4 °7 [£2L3t 20
L [EOEH 32| |7 "B 20| |y BB 1| | & 80
K |EbHE(h ) 12| |3 Lol 6] | A )24t 30
A |AYA 08| | I =pS5Y 25| & [SIES (EEAE) 10| (v LR FESCHHE 10 AS 10
Y oo[£L BIYES 3| [V |KbrL 20| |2 |AB 17 (A 20 Lol 10
F el 0] [V (A 5| [F [ 3| |1 [ze3Y 25 Ah¥ 5
;IC bbb s—pa—y 7 EB‘ EHT 11 |E bhh—na— 5 BOLAE 0.1
- IMNAEE 20 ,T\ 67 |pazorLysey -mims 4.5 o ZFL LA 3 : YACHEE 2 hHE 6
| ABBL 25| | A K 100 B 1 =F ke 2
o |AB 5 | 7O |UEDI—=F Lk 70| |z 0y A=} )] 0.4 ETL LA 3
& |=OEH 13| & + #Y—7if 0.3 198152 100
— B 0B 1] |~ Ht-tail 0.3
BiE 0.2
5 (@ 7—E EAYF—X 15 BIZLES 0.02
8 | MaAYFT—E R 3




F10A

158 () 168 (k) 178 (K) 18H (£)
A Bmb —A&EY | |#zs Bmd —A&Y | |#xs Bmb —A&Y | |#za =4 E —AHY
ERD=E ERS = EERDE EXS=E
z |HaxER 60] [ Mk (BH) 65| (£ |Ek(BEH) 60| [1F [k (EH) 65
- |BEXREH 70| |2 |mm m-msL sk 9| |= [BEEK(ER 70| |2 [&E 4
% *kHuiE FiE 6 aﬁ e b EAL Ak 6 % *kuE Fit 6 ?: BEF 15
0 [k#E Fit 0> [EE 0.6 0 k1% FiT 7 2 A =F;:) 10
- 1% {Q?f:#’ajﬂl 05| |4 on = 4 BiE 1.1
g, 7 |4E 206| (4, |higlS 3| |3 |45 206| |3, [HLET 0.7
=DFWNE Hvk 10 ALEZAY 15
& (AR AR 20| (& [L®HL 5 [H [mm Ao+ mw-mbL 15 | |G 5
| EE 13 |As 6| (AT [mm Aot m-gmuL 10 [P [EBEEGELA) 1
2 [se0m 20| [, [BoEeE 5| [R [&E 1 [F [muSiES 8
% ) EHTE (a0 ol £ [xof ||y [B<o of |4 [Az 6
g |ELEER 0| [ [HE 1| |5 [hAla puk 2| |5 [BCERS 5
L |AZ 10| | [EOAECEEHE) i  [S1F5 #ehAvk 20| |x |wILLortzsm) 08
L PRSPVAFA 10| |o |BiE 08| |3 [AB 10| |52 |[BbEE(EBHE) 2.5
) FLLLV= [ (RF4R) 1| |& " |HLEHR 05| [z [EEZAIZL 15 |5 [EH& 2
B |kt 1| |8 ) FLLLVE I (RSAR) 1 RO 1.6
i [ROE; 3| [K |43 206| |# [ATERS 5 |1F 8 [k 2
N TE-T ) 24 A P 1] |4
A e 03 Z Tl 2| |7 [Eo=m 4 zm #3 206
w B 60| |U |AZ 10 B HE (ch INE) 15| |of
A o |SES(EEAE) 25 HYA 07 A EDEVHERD 40
B EERY 20 B)Ehhd (hvk) 15 il 0.5 48 | A t-4aim 8
= |RbLPL 25| |%  |[BYBCE 1 s 20
0] AS 5| |B CFEH 0.5 AEE Hvh) 25
B |Esx8h 1| |~ [ROoZm 2 INAZE 20 higf 5
R [mosms 12| |7 [moEChmm) 1 AL 25 At 25
62 [y % 12 7’ HYA 0.2 AS 5 AS 7
L ELE 10 RO 1.3 hhE 3
8 () L\WWESHE 8 5 [fEm2s 1 EOE] 2
A EE k) 30 Bis 05
ADERIT AL 15 80 |H M A 80 BB 1
fhEF 3 HYA 1
BiE 0.5 L BIY & 4
EOEm 1 HLE®R 1
=L _BIYER 3 EF 100
HLET 1
%15k 110
0| (E) <O Iy 28




F10H

218 (R)
kB BR% — A&y
EhRDE
% |[BaXER 60
- BEEX(FH) 70
& [xpE Fit 6
bo[kmE Fi 7
& o g 206

£

c |EREVF 10
»  |BAFEIVF 15
»n BB 1
Ly BOECeALE (Byh) 70
3 |RTEFEE 40
D DECAITRLUN—D) 20
z |AB 15
F AhoEss 5
5 [fit-Aaih 1
R [EozEm 32
Rh#E (ch IR HE) 2.3

7 =E Y
| b9} 1
£ |[TASA 05

203 | : 2
v = 8

S

» |hAch Ak 20
zZ  |Ew3Y 15
AHOL 15
v [EOE; 25
C |[&E 2
T (pE( kB 1
‘Z’ 7—EUR (ZH) 1.2
) 59 [F_E R (39 1.2
0 uvLEnY 10

23H (JK) 24H (K) 258 (%)
BRI & BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
_ EkHE EkHE ERNE
£ |[HBEX(ER) 60| (X |[HBEX(EH) FIRENERE 30
S |REX(ER 70| S [HBEX(EHR) 70| |2 o[ay~x/sy 40
& rmmz B8 6| |& [kHizE F=& 6| |5
Ao [xsiE B 7| |& o [kmE Fi 7| < 043 206
t': 206 4:—,L t': 206 o3| {\ oL —
= 2 206| | 43| 206| |~ ) 25T 4 (1\—D) 35
2. 2. ol ]
T |DEsL casatE 35| |,y [BARSAR 20 ﬂI:, AN e 1
H  |Erta 1| |v [RTEER a0 | [FEmsF 15
C |BEE 38| |2 [EuELestbGivh) 0| |=  |BAFSIVF 15
o [EOEH 25| [5 [kxbKkZE 15 | ([RLEFHE 35
= |mEEaR) 3| |4 LR =yial—L 1| |AZ 10
gﬁ“ B 4l |2 [BALIZAIZC 0.3 {)\ TYUE Avk 7
INEH 5| |2 LHL 7
ESNAE 20| |Y /35— 3l [T 3ty 1
F  [x3HL 25| |2 |faftaim 2| |r [B3LIZAIK 0.3
e 5| |2 [k 2| |2 |ttztaih 1
4 ?EfJ\"DEB 1 A LR) BN R—=F 3 :7\ FrEa—L 13
= 67 BOEH Ll FAESH 2| |5 FRETFyT 7
B ) BB (Byh) 15 g Big 1 DARA—Y—R 1.5
U [PECAIRKN—D) 18 cL&> 0.07| |1 FEravy A ALIkE 0.3
= |TARS 10| |3 [Froavvs sz 06| |% |&iE 02
L [CESEEHE) 20| = [BEEaR 05| |2 ={cLsS 0.05
A 5| |[b [pbLip 015] |7
U [AOERE 5/ |7 |E¥AF—X 3 |9 [y 20
C |[g&ouLE 1.8] [+ o—yx 01| |5 |ZwdY 20
T |-t 1 w28 70| |[#  [KB®L 10
g])\ EOEm 25 Lh)R—La—y 7
é E’i‘*’j?(f}ﬁ*ﬁ) 1.2 RUL R/ \L GE) B3R 3 T 56 | syzorLysy somims 45
= |#HYA 0.5 FrAy 25| | ¢
90 |7k 10 Zp35Y 10| |~ 15 [(E)F—X N 15
AS 5] |/
LK) r—)La—> 5| |? 70 | (@) I—=F )Lk f 70
51) %7+ A0 02| |#
26 0.8
57 [smrLyye s s-mms 4| g
|
5
30 |3=k<k 30| |V
[N
th
»
H




288 (H) 298 () 30H (k) 31H(KR)
#hI B B4 —AZY k2 =4 E —AZBY | |#se BR% —A&Y | |#zs B4 —AZY
FRDE FRD=E FRS=E FRSE
E I EEIE S0 60| R [HEX (BB B A 50 (£ |[BAX(EH) 60
L I=ECE50) 70| (& [HEEX(ER) 0 N B B 60| [= [EEX(EH) 70
RNESE 3 152 6| |V o [ZHLOE 2508 24| [ & Lemz Fi 6
Mo [xaE B 1| | SRCT] 200 |V 0 [HhiE = 7
& 7 R 206 4
206 = . 206 =
7, " |E 206 4 |mA vk m-EGL 10| |z, *° |45 206
Bt [BREARIAX 20| |3 |me pub Bh-mHEL 6
= BIEAE DIME TASAHE N 40( |BF b 1 hELvHVE 30| | & (A s /N 50
A BIEAE DME TASAHE th 50| X w) BB (hyk) 10| |28 BOEEHR 40| |IE (A s f 70
& [hihi 1| |2 [hach Hok 20| |~ [AZ 10| (D [&E 1
7?\ = OE; 25 E ZIES5 flohvk 25 z LHL 15 iﬂ:} 52 | Bif 0.3
 |(PECEE® 4 B 5| 3 [y 1| %
o |PYA 12| |5 |Gftil 05| |5, [TBf=-fiH 1 [FSNAE 20
= |[BALAEE 02| 4 |BRAOE 3| |+ |Bf=hil 1w [Kb®L 25
A |[TASA 02| (oo [BEE(LEEH) 15| |2 [/38— 2l |1 | A 5
58 32 2| |&# |#YA os| |1 [hEw 2| |Y  |HwLEYH 0.5
% KRB 15 FERLE 30| | 52 O 1
# xR 25| |’ S [rravya amis 05| |%
; As 5| | |[AB 30 ,; Bk 03l | [£ARFAR 15
3 [Ee3Y 20 |3 Lot 15| |2 [EL&S 0.02 ,ﬁ &E 1
BEF 25| | [HEITF 10 [ A=Y 01f | [SES(EEAE) 40
AL} 1O =} ) 15 |y |[FRE 5/ || *|& 50 AS 10
»  [BOE; 15[ A |BHE 6| |~ ) SPVAITA 7
Z |myacE 07| [ |A&%F 2| | X |svorE—0x BEAY 10 DEZAIZeL 15
tes gy 07| | [EFL LA 3| [P [LhFECHmE 10 fit-1ail 1
Wb le 100 |7 [Z03Y 25 FAHE 3
DEICHS) 30| |F P 10 FOHE () 15
Mg 10 5|(E)YAZHILE 35| |5 |[SEi 0.3 EOEH 05
BHT 15 y o |RLESRE 1 BWYBEIE 1
AS 7 > |BOE; 1.2 oy 0.2
hhE 5 65 | phiE (LB HE) 1 %038 10
KHT 5
FHE 2 60| (&) T~ 50
ETL LA 3
015K 100




